Chapter 5.notebook

Unit 5 Study Guide

skill Description Example

Recognize the different & palynomial may have variable term

parts of a palynomial. variable terms and a
constant terrn. The number @+ 2x + t\
in front of a variahle is its i
coefficent. coefficient el

Describe and classify
polynarmials.

A polynorial can be
classified by its number of
tarms and by its term with
the greatest degree.

NMoromial: 3x

Bingmial: 2x + 5

Trinormial: x4 +2x - 1
degree 2

Use algebra tiles to represent
a polynemial.

We use these tiles:
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A pair of tiles with the same
shape and size, but different
colours forms a zero pair.
The tiles model 0.

x 1 2x—1

-ll.
. II Bm
1]

[E— t_.n,_d

—_—
i}

Simplify poiynamials by
combining like terms.

To simplify 2 polynomial, add
the cocffidents of like tarms.

Like terms: 4x2 and —2x2
Urlike terms. 3x and —5
a7 — 2 = 24

Add polynomials.,

To add polynomials, remove
the brackets and add the
coefficients of like terms,

{4k + 300 + (2 — 54
=ay? 4 x4+ x4t = 5x
=y + %% + 3 — Gx
=5l

Subtracl polynomials.

To subtract a polynomial,
add the opposite terms.

3k = 5x) — (2% — X}
=37 +hx +H (-2 + %)
=3 + 50—+ x

=32 — ¢ F 5% X
=¥ + Ex
Multiply a palynomial by a To multiply a polynomial by | 3x(fx — 5}
mornomial, a manomial, use the = 3x(6x] + {3x(-5}
distributive property. = 18x2 + {~15%)
=18x" — 15x
Divide a polynomial by a To divide a palynamial by 24xi A2x _ 240, —32x
manomial, a manomial, divide aach B 333 . Bx
= 3x -

term of the polynomial by
the monormial.
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Unit 5 Review

IEED 1.5 the polynomial a monormial, binamial, or trinomial?
al 3P+ N _ b) 5d
€} el —0e+ 7 . d) 87— 1
2. Sketch algebra tiles 10 model each polyaomial,

a) 3k-4 b)Z2mi —m+ 3 g —n+50—2

3. Simplify each polynomial,

al —7d 41 84-2 b} 3e2 — Be + 262 + e

€ 13-6h—202+7h—9 d) —9k2+ 15k — 8- 22—k + 3

4. Identify and explain any errars you find.

a) 2xf + G =T

b) 55 —Fs=—-12s

5. Sketch algebra tilas to model each sum. Then write the sum.

a) (-Se+ 7+ (Me-1) b} (67 — 2f + 5} + (—4fZ — F — 3)
Femaining tiles: Remaining tifes: _

So, {=5¢ — 71 + {de — 1) = So, (62 — 2f + 5) + {—4f2 — f — 3}
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6. Add.

ay (Fr+11)+(=2r+ 3 b) (—95% + 5s) + (165 — 95 — 14)

7. Use algebra tiles to madel each difference.
Sketch the tiles that remain, then write the difference.

a) (—2t+ 5 — (-5t + 7 by (—Fu—2 - (—uwf—3u—1}
Remaining tiles: Rermaining tiles:
S0, f—2t+ 5y — (=5t | 7i= So, (T —2 -~ —3u-1=
B, tubtract.
a) By — 5 — (13— 3) b} (10w2 - 7) — {—2w + 9w? + 5}

1l

br+ 5+ ) .

9. wWrite the multiplication sentence madelled by each set of tiles,

10. rultiply,
a) 67y + 1) b) —9—22 — 4z + 5)

=& Y + 6 ) =
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11. Divide.

a] 1538—4(:' b} 2?&“99!}4‘36

+=_-_ ==
o

g
'|En>,<
BraEl ) =

IEA12. sketch algebra tiles to multiply. Write the product each time,
a) 2clc + S)= b} 3d(—d + 4} =

13. Multiply.
a) 3e(5e — 2) b) —4f(5f + 2)

=(3e)_) + B =
- _6'2 + (e =

14. Divide.

=212 . T —33n2
Z21e b) 81— 45m o) r +3E0

a)
—-9m =3n
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